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3 Dance Dance Revolution

(15 points)

(Subtask 1: 6 points, Subtask 2: 9 points)

Description

Bob, a fanatic dancer, loves to dance rhythmically with the music. One day, he discovered a fantastic DDR,
also known as "Light or Dark? Dance Dance Revolution". Enthusiastic about the dance as Bob is, he
immediately started the challenge. In "Light or Dark? Dance Dance Revolution", each stage consists of NV
lamps and M pedals. Each pedal connects two different lamps so that it can change the state of these
lamps. Initially, there are some lamps turning light, and other lamps turning dark. The goal of the game is to
darken all lamps. Besides, Bob hopes his dance is metrical, so he cannot tap the duplicate pedals. Under
these constraints, could Bob finish the target of the game? Please help him find a solution.

Input

The first line of input contains two integers N, M (1 < N < 105,0 < M<2x 105), representing the
number of lamps and pedals, respectively. The lamps are indexed from 1 to IV, while the pedals are
indexed from 1 to M.

The second line of input contains N integers ¢; (¢; € {0, 1}), describing the initial state of it" lamps. 0
means that the lamp is dark, and vice versa.

In the following M lines, the i*” line contains two different integers z, y (1 < z,y < N, = # y), meaning
that the it pedals connects two lamps with index x, ¥.

Output

If there doesn't exist a series of pace to darken all lamps, output No in the first line, otherwise output Yes.

If the answer is Yes in the first line, please output an integer in the second line, describing the number of

pedals needed to be tapped. In the third line, please output all indexes of lamps that Bob should tap in
order. Notice that no duplicate pedals are allowed.

If there are multiple ways to darken all lamps, please output any of them.

Subtasks

Subtask 1: The input graph is a chain.
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Hints

In Sample Input 1, tapping the 5th pedals can darken the 3% and the 4" lamps, making all lamps dark.
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